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Carefully read the instructions given on Question Paper,
OMR Sheet and Answer Sheet.
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Question Paper is in Hindi and English language.
Candidate can choose to answer in any one of the language.
(i.e., either Hindi or English)

T HGGE/ TR F S wmr €1 Wit T # 9/ w9 3R wrmr
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There are TWO PARTS in this Module/Paper. PART ONE
contains FOUR questions and PART TWO contains FIVE

questions.

WRT U& ' S&feqss "’ TR o1 § f90% a1 3is 40 €
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PART ONE is Objective type and carries 40 Marks.
PART TWO is Subjective type and carries 60 Marks.
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PART ONE is to be answered in the OMR ANSWER
SHEET only. PART ONE is NOT to be answered in the
answer book for PART TWO.
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Maximum time allotted for PART ONE is ONE HOUR.
Answer book for PART TWO will be supplied at the table
when the Answer Sheet for PART ONE is returned.
However, Candidates who complete PART ONE earlier
than one hour, can collect the answer book for PART TWO
immediately after handing over the Answer Sheet for

PART ONE to the Invigilator.
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Candidate cannot leave the examination hall/room
without signing on the attendance sheet and handing over
his/her Answer Sheet to the Invigilator. Failing in doing
so, will amount to disqualification of Candidate in this

Module/Paper.
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‘After receiving the instruction to open the booklet and
before starting to answer the questions, the candidate should
ensure that the Question Booklet is complete in all respect.
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Note : In case of any discrepancy found in Hindi version,

English version will be treated as fin

—
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DO SO.

DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO




P o7 IFMIAT Weh / PART ONE

1.2 frafafed e wm &1 emseye Jm = .-

(|t g9 o IS/ Answer all the questions ) FR s
def_init_(self, id):
self.id = id
1. ;%mm%waﬁaéﬁwﬁqm id = 555
! . i
T qoq Suge fasheq o o 3y acc = Acc(111)
T O 3 W ST U T Siruwan
. N ) print acc.id .
m ‘qm ﬁ., Wﬁ ﬁ‘q Trq ﬁévﬁ % W, : | | '
S, (A) 111 (B) 555
A (C)" 666 (D) error in code
Each question below gives a multiple : i
choice of answers. Choose the mgst Flrlgd kel s
appropriate one and enter in the “OMR” Ferel
answer sheet supplied with the question class Acc:
paper, following instructions therein. def_init_(self, id):
- (1x10) self.id = id
| id = 555
1.1 frefafed e v i ssege 9| =
acc = Acc(111)
a = “Meetmeafterparty” print acc.id
b=13 (A) 111 (B) 555
C) 666 D) error in code
printa +b S [(_ i
(A) 29 (B) 14 1.3 frfafes ¥ @ 99 @1 o by Iftgea ¥2?
(C) errorincode (D) 15 (A) my_string 1
B
Find the output of following Python . o
Programs. © -
a = “Meetmeafterparty” By At String
Which of the following is an invalid
b=13 variable ?
printa + b (A) my_string 1
I'.
1) (B) foo
(A) 29 (B) 14
) &
(C) errorincode| (D) 15 |(D) 1st_string
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1.4 FefafEd wee SO F1 Eege 96 H: | 1.6 mmmm‘ﬂﬂw;ﬁaﬁ;
x = [‘ab’, ‘cd’]
‘ def gfg(x,1=[ ]):

for iinx: Sampark Computers
L.upper() Udyan Plaza
rint(x) Near Saheed Path & Raibargli Roadf -
P Uthrethia, Lucknow-226025 or i in range(x):
«(A) ab Mob. 9415424753, 8005145433
. ters.
(B) cd www.samparkcomputers.cqm Lappend(i*i)
(©) [ab, ‘cd’]
(D) [‘ed’, ab] print(l)
Find the output of the following Python
programes. for(2
x = [‘ab’, ‘ed’] ) 8tg(2)
foriin x:
i.upper() (A) [3,21,01,4]
print(x)
(A) ab (B) [0 1]
cd
i (C) [0,1,0,1,4]

[[C) Tab, T ]
(D) [cd, ‘ab]

(D) error in code

1.5 ffafeaa dam & s=ege @ ¥ 2
= Find out the output of the following
b =377 . | Python programs :
i, ’ def gfg(x1=[):
strl = “{0:4f} {0:3d} {2} {1}’. format (a, b, c)
print(str1) g
for i in range(x):

(A) 2.0000 2 -8 3.77

(B) 23.77 -8 3.77 e
(C) 2.000 3 -8 3.77 lappend (i)
(D) '2.000 2 8 3.77 _
What is the output of the following print(l)
program ?
a=?2 gfg(2)
b="3.77 -
cm8 (A) [3,2,1,0,1,4]
strl = '{0:4f} {0:3d} {2} {1}'. format (a, b, c)
prmt(ftrl) | S (B) [0, 1]
[(A) 2.0000 2 -8 3.77 | AN
(B) 23.77-83.77 (€). 101,01, 4]
(C) 2.000 3 -8 3.77
(D) 2.000 2 8 3.77 (D) error in code
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9 mqaqaﬁﬁﬁmﬁﬁaﬁmﬁﬁaﬁqm

1.7 . ARE & t= (1, 2, 4, 3), FrafefEa § 9 %7 | 1
1 e & 2 TTerd § 2 :
' (A) e FRfie RE FTE T FY
(A) print (t [3]) Y BT e
(B) t[3]=45 (B) fe 39 F 1 Ieohd IIYHR T H §
(C) print(max(t)) fFn T e @ a1 e 3 T ®
(D) print (Len(t)) (C) UF frepfia wHRA HIS HI F9F |
Suppose t = (1, 2, 4, 3), which of the ST 3 & .
following is incorrect ? (D) v frfda hRM H Th e 3wy
(A) print (t [3]) S Bl < .
Which of the following statements is false
(B) t[3]=45 about recursion ?
(C) print(max(t)) (A) Every recursive function must have
: a base case
(D) print (Len(t)) (B) Infinite recursion can occur if the
base case isn’t properly mentioned
(C) A recursive function makes the code
1.8 ffafad dIge &I &1 3STye T B 2 easier to understand

(D) Every recursive function must have
>>>t1=(1, 2, 4, 3) a return value
>>>t2=(1, 2, 3, 4)

R 1.10 fr=fafaa Tgem Fre =1 ARSYE F1 8 2
Sfa‘r;;nagi é‘;mpmers | ‘ import functools

(A) True Near Saheed Path & Raibardi Road 1=[1, 2, 3, 4, 5]
Uthrethia, Lucknow-226025 = St

(B) False Mob. 9415424793, 8005145443 % ﬁmlc ggmieinceHmbdati yasitpy
www.samparkcomputers.com e _e ¥, 1)

(C) Error print(m)

(A) Error
D) 12 43) (B) Address of m
What will be the output of the following © 1
Python code ? :

What will be the output of the followin
>>>t1=(1, 2, 4, 3) Python code ? P &
>>>t2=(1, 2, 3, 4) import functools

1=[11 21 3: 41 5]
gt m=functools.reduce(lambda x, y:x if x>y
(A) True ' else y, 1)

print(m)

(B) False ‘ (A) Error
(C) Error " Eg)) Address of m
1
(D) (1,2 4,3) (D) 5
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2. Sy ferem T Wl FeraroT O A HE § I
o | Tk e e e o Sl
9T O 3 AT SIS A T SR
39T e O, Sun fau T fdvi & e,
T | (1x10)

01 TEUA TE = W4, G S A, $EfRd
3R Tg-ameia fepfen daw ¥ 1 9 31d
qaa BN F fau TR =t T

b UEYA I AN | ot wE R o i
A, TFA-3, C, C++, STFNA-68, T
2t ol g va ok oty farfen o
e e |

03 Uy frd fory weem ¥ fo w9 aifus
SRR IR SR faHy T SRy s
27T A A % IgER fir e €,
SRR SEEIET & ®9 § W1 9@ € |

2.4 =qq ¥ A 9% TEIA & foT, 9 W W
YT e VI 5T T T S 1 ehiehi
¥ Ty el ¥ fAu SRR SIS S ST
cadl

2.5 TIEQ TRl & faT 9EYT AHe qRYd
SB-API &1 Sifyesrer UEY $TeH 3¢THd
T T 1 9o hid 8 |

26 afe S21 @i F Ty wudh wenfua & S @
e o @l € W § ST ST SwE
forn il H Q9 F S, SFAA SISt A
NoneﬁﬁEmﬁTﬂT%l |

27 tell() HerS SIeh HRE & ST e fed
TAIE |

2.8 TUH 20 Wiz T €d €|

2.9 Teeh fafy init () T fodw faftr B, f5@ s
SgaR a1 gHREemEseE fafy F§ S
52 UReH id HLAT § 96 3T 36 FAE Hl
Toh 741 3 F ¢ |

210 e T T feRe T U H SNl B,

2.

2.1 Python is a high-level,

25

2.6

Each statement below is either TRUE or
FALSE. Choose the most appropriate one
and enter your choice in the “OMR”
answer sheet supplied with the question
Paper, following instructions therein.

(1x10)

_ ; : interpreted,
Interactive and object-oriented scriptin

language. It is designed to be high
unreadable. FALSE : Ve

2.2 Python is derived from many other

languages, including ABC, Modula-3, C,
C++, Algol-68, SmallTalk, and Unix shell
and other scripting languages. 1 £

2.3 In Python assignment of more than one

behaviour to a particular function and the
operation performed varies by the types
of objects or arguments involved are
known as operator overloading. 5| s

2.4 To access values in tuple, use the square

prackets for slicing along with the index
or indices to obtain value available at that
index. TRUE

The Python standard for database
interfaces is the Python SB-APIL. Most
Python database interfaces adhere to this
standard. TRUE

If a connection is established with the
datasource, then a Connection Object is
returned and saved into db for further use,
otherwise db is set to None. 5

2.7 The tell() method tells you the current
position within the file. TrUE

2.8 Removing individual tuple elements is
possible.  FaLSE

2.9 The first method_init_() is a special
method, which is called class constructor
or initialization method that Python calls
when you create a new instance of this
class. TRUE

2.10 When a Python script raises an exception,

LI K] mﬁgﬁﬁwaﬁqmm it must either handle the exceptiog
immediately otherwise it terminates an
o TG B It ¢ SR g & Wl ¢ L
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3.

wierm X ¥ faw g vrss St ATt w5y figere wtem Y ¥ G

Preream Trata g/ v/

ATl & 1 S P Wy 3 e g SRS R X, R e
T UTETT &I B0, T i) (1x10)
| e x e Y
3.1 (U fordt oft aofi o =8 s & . |time.altzone
3.2 arrﬁﬁza%mﬁéﬁﬁ%ﬂfaﬁfé;ﬁnﬁ tuple(seq)
. T% BES 1 AR B # g ain fo@d SFi F el ‘
fore @ern #
| 3.4 |FWH = FIES F Y Y 29 § . [F T
/3.5 }%ﬁﬁaﬁaﬁfﬁﬁqﬁ@a’t% b+
/3.6 /ﬁmmmmﬁmﬁhm% LS AR R
(3.7 (wﬁu@mﬁmsﬁqwaﬁw@z . |L[-2]
3.8 |u fore ot oue | wfafda #wane . |def
3.9 |FEA F < FauH el g9iar § del
3.10 |U% TV 29 &) W Y 9 T ¥ getewd ()
NISEC Ry
Rb-

Uthrethia, Lucknow-226025
Mob. 9415424793, 8005145433
www.samparkcomputers.com
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3. Match words and phrases in column X Wifh the closest relate
phrase(s) in column Y. Enter your selection in the “OMR~

the question paper, following instructions therein,

d meaning/word(s)/

answer sheet supplied with

1x10
— (1x10)
Column X Column Y
3.1 |Error does not fall into any category F A. |time.altzone
3.2 |The arguments have invalid values specified D | B. [tuple(seq)
Opens a file for both reading and writing in
33 [. C. |tell()
binary format E
3.4 |Function blocks begin with the keyword ‘ H D. |Value Error
3.5 [Negative count from theright = (G E. [rbt+
3.6 |Method displays the current working directory F. |Runtime Error
J
3.7 |The offset of the local DST time zone A G. [L[-2] .
B.B Converts a list into tuple | B H. |def
! 3.9 (Shows current position within the file C I. |del |
3.10 (Explicitly remove an entire tuple | J. |getewd()
K. [Syntax Error
L. |Rb-
M. [L[1]
K [-1]
Sampark Computers
Udyan Plaza
Near Saheed Path & Raibareli Road
Uthrethia, Lucknow-226025
Mob. 9415424793, 8005145433
www.samparkcomputers.com
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4.1

4.2

4.3
4.4
4.5

4.6
4.7
4.8

4.9

A v e F A DT e Y e g A ot g e o v
Saeger ferre o o 38 W W & ey firg T AR I A mﬁﬁquﬁﬁ\
¥ ITTEW, T Y |  (1x10)|
(A) |time.time() (B) (24 (©) [wifufaw (D) [T
(E) |atfersm (F) [Tkt Afwsew | (G) @t (H) |72 o Tege
() |weRH () sy (K) [\ (L) |Trerd
(M) [fem st
Frafafas TR Yom &1 TReE I
r=lambdaq:q*2
s =lambda q: q*3
),: - 12-(x) Sgr;%agjaczc;mputers
v i s Near Saheed Path & Raibareli Road
ATy r(x) Uthrethia, Lucknow-226025
print x Mob. 9415424793, 8005145433
fFrerfefiad Teem e T RER 5 www.samparkcomputers.com
a = True
b = False

¢ = False
ifaor b and c:
print “TRUE"

else:
print “FALSE”
PSS HARLE €|
t-fewfda haer = gam d fefda e e YA T o B
TeeR S dES g g @ o -
oM SRg-SE! WIEd A1 W S wee F qHed S ¢ e B F A
e & g
iz 7 TR, e F a8 ¥ Yhe F TH FWife-ise FEA Hew g
qreer S § oot wede (emideE) W WiRa R W €

F Fae 3G HHRA B R @AY fRar 1 Fehar ¢ T =% wifta fan T §, el
Ao s F 9 SEE g T SEt § UFE @ ofd 7 T R S e g | |
mﬁtgﬁﬁ%ﬁa-ﬁm%%mﬁﬁﬁ%ﬁqﬂamﬂﬁmm%aﬂtm
1 ST A €, Sofes Gieal ol e ST HT € |

4,10 T EmsH W iR 3 o fafad Y ) T W TR @ e et | SR w9 W

qftafda =t §1 dfe wvft-adi, eftex i STevE@stl W W HE & oY T
T 1 TH T Y L TER § T T 97 FW@ ¢ ,
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4. FEach statement below has a bl.::mk SPfce fo f:t one of the word(s) or phrase(s) in the
list below. Enter your choice in the “OMR" answer sheet attached to the question

paper, following instructions therein. (1x10)
(A) |time.time() (B) |24 (C) |parentheses (D) |reference

(E) |more (F) [local variables | (G) TROR ™ (H) |Guido van Rossum
(D) [function (J) |objects (K) less (L) [FALSE

(M) [Tim Berner .

4.1 The output of following Python program is ub = RN
- r=lambdaq:q*2
s =lambdaq:q*3

x=2
- Sampark Computers
); o ;83 Udyan Plaza _ _
Near Saheed Path & Raibareli Road
x = 1(x) Uthrethia, Lucknow-226025
print x Mob. 9415424793, 8005145433

. www.samparkcomputers.com
4.2 Let consider the following Python code

a = True

b = False

c = False

if a orband c:

print “TRUE”

else: i
print “FALSE” =
the output of this code is

4.3 Recursive functions usually take _ E memory space than non-recursive function.
4.4 Python programming language was created by H £y
4.5 Python supports Object-Oriented style or technique of programming that encapsulates code

within wi]

4.6 A returns the current time instant, a floating-point number of seconds since the
epoch.

4.7 All parameters (arguments) in the Python language are passed by D )

48 The_ F can be accessed only inside the function in which they are declared, whereas

global variables can be accessed throughout the program body by all functions.

4.9 The differences between tuples and lists are, the tuples cannot be changed unlike lists and
tuples use ___C . whereas lists use square brackets.

4.10 Python converts numbers internally in an expression containing mixed types to a Common
type for evaluation. But sometimes, coerce a number explicitly from one type to another to

satisfy the requirements of | parameter.
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WFT g/ PART TWO (a) grifte a PyatJhO? e o Pl
(o A wet & sy e e e b L
Answer any FOUR questions) (b) Define mutabl?_h and jmmuta};lf daty
e. Explain the concept of Linea
5. (a) U IRYS W @I feqifeg @ ¥ T g‘npd Bin};ry search with Pytho;
TR R ey e T g | &'o_gtram.d ks iri Pythion |
Iﬁqlélba Silﬂlﬁ C rite code sni els 0
(®) sk _— w STSege = fyfewe o perform Accesgilig Elements of a
r=lambda q: q * 2 e (3+8+1)
s =lambda q: q *3 (a) 319 Tk Yohel & HQ giea R 3
x=2 I ? T % T ST o 1Y TEH
x = r(x) R 1|
::fgg b) Frefafen # smen wt
print x () fore wmfET ’
(c) TR ¥ AU 1 YU FR Ry (i) feree werfe faftra .
£? 3 ST AT E N Iy 357 g (a) How will you create a Pac age and
. import it ? Explain it with an
Hflﬁ;f R T & A A fergermm example program.
EZGINS (b) Explain the following :
(a) Write the basic steps required by the (1) List Sﬁdng.
interpreter to execute a python (i) List Accessing Methods (7+8)
program. >
(b) Predict and explain the output of (2) S HI T | m’g'ﬁ‘ﬁ'
following program fradl iR 37 W & E'Ui'rt Ead
r =lambda q: q * 2 (b) T W P A B | TARH
s =lambda q: q * 3 ey ford it 3o s & == oY)
x=2 (a) Ilustrate the LEGB rules and its
oy rgxg significance with help of suitable
X =s5(x diagram.
x =1(x) (b) Explain about Python slice. Write
print x the syntax of slice and discuss about
(c) How memory is managed in it. (7+8)
Python ? Give the tools name that :
help to find bugs or perform static (a) NumPy i IRwmer e ? NumPy T Hd
: (b) AT IR W F I Ry W
6. (a) MY T ITI ek et <t 7 W T W H ST F | STeiiem,
% SRR it o T % fore o BT IS ford 3R & & 2w ¥ fea
Teer Ji ford | TR R |
(b) REdT iR suftad-ia 221 yer # (@) Define NumPy ? How to create
i bl (b) l];I;lplainﬁigll;ilw)/(vcﬁfhart and symbol
T T s
aﬂ:{ w3 1 e used in flowchart. Write the
Ead Algorithm, pseudo code and draw
(c) Ua F THGT el F FoqeT & fera the flowchart for Towers of Hanoi.
e | Hie fedey o | o0 gt ¢+9)
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